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Answer all questions firom the folkowing: 1x5 =5 

) Who fist used the word "Sanskritization'? 

(A) Maclver (B) Srinivas (C) Page (D) Ogburn 

(A) DUN (B) 4p (C) CGF (D) y- 

(ii) Modemization' is a process of 

(A) Technological change (B) Social change 

(C) Culurai change (D) All of these 

(A) af fsoAa 

C) R OA 
(B) ITA 19 
(D) 

(iii) The process of socialization ends with 

(A) Childhood (B) Adolescents (C) Adulthood (D) Death 

(A) THTR (B) T (C) eNTA (D) JUO 

(iv) Cultural-lag means 

(A) the gap between two different culture 

(B) gap between material and non-material culture 

(C) Both (A) and (B) 

(D) None of these 

(C) (A) R (B) -3 T (D) PA5A 
(v) When a person moves from lower position to upper social position, it is 

called 

(A) Horizontal Mobility (B) Vertical Mobity 

(C) Upward Mobility (D) Downward Mobility 

(A) 9 FIUTO (B) t 57o (C)iT ADTSI (D) T ASTOI 
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